
Class II          Revision          Dt- 02/9/2020  

1. Subtract the following-  

a) 8 8 8             b) 3 6 7             c) 6 0 0          d) 4 0 4           e) 6 5 3            f) 6 9 0  

-    5 2 9               -   1 8 8               - 2 5 6           -   2 6 5            -  3 2 8           -   4 8 4  

 _______            _______            _______          _______        _______        ______  
________           ________          _______         ________      _______        ______ 
 

2. Solve the word problems –  

a) A tree has 312 red and green apples. If 127 apples are red, how many are 
green?  

 b) Mukta has a book with 400 pages. She read 132 pages yesterday. How 
many pages are left to be read?  

c) Ankur has 160 pencils. Sneha has 184 pencils. Who has more pencils and 
how many more?  

d) In a cricket match, Ajay scored 167 runs and Tarun scored 83 runs. How 
many runs did they score altogether?  

3. Do as directed- 

a) Write one English alphabet using one sleeping and one standing line. 

b) Write one alphabet having only slanting lines. 

c) Write one alphabet having only curved lines.  

4. Draw a figure using standing lines, sleeping lines, slanting lines and curved 

lines. (Use all of them ). 

     

 

     

  

   



 

 


